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Problem quickname: 8565

1)
Quick:
8565

Calculate the result.

a) 5.011 · 10000 = 50110 b) 3.045 · 10 = 30.45 c) 3.012 · 10000 = 30120
d) 4.049 · 100 = 404.9 e) 7.088 · 1000 = 7088 f) 8.098 · 10 = 80.98

g) 4.023 · 10000 = 40230 h) 10.032 · 10 = 100.32
i) 9.053 · 10000 = 90530.00000000001 j) 3.016 · 100 = 301.6
2)

Quick:
8565

Calculate the result.

a) 484.8 · 100 = 48480 b) 540.6 · 10 = 5406 c) 100 · 660.7 = 66070
d) 10 · 287.2 = 2872 e) 100 · 583.5 = 58350 f) 10 · 450.4 = 4504
g) 802.2 · 10 = 8022 h) 100 · 564.5 = 56450 i) 100 · 778.7 = 77870
j) 100 · 921.3 = 92130
3)

Quick:
8565

Calculate the result.

a) 100 · 0.2 = 20 b) 0.8 · 10 = 8 c) 0.8 · 100 = 80
d) 1000 · 0.5 = 500 e) 0.1 · 100 = 10 f) 0.6 · 100 = 60
g) 10 · 0.7 = 7 h) 10 · 0.3 = 3 i) 0.5 · 100 = 50 j) 1000 · 0.6 = 600

4)
Quick:
8565

Calculate the result.

a) 0.081 · 100 = 8.1 b) 0.077 · 100 = 7.7 c) 0.042 · 100 = 4.2
d) 0.092 · 1000 = 92 e) 0.037 · 10 = 0.37 f) 0.041 · 100 = 4.1
g) 0.011 · 100 = 1.1 h) 0.019 · 1000 = 19 i) 0.052 · 10 = 0.52
j) 0.024 · 1000 = 24

Good Luck!
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